FLbE T TR RN

USSR e
Z< AR
e QR 1 12457 o
By irE%TT
HIEFE EBIHER RERE | BEE S AR
FEE Fi i B &L 3 THES | THEE nE T
92,975/53 BERHEAE 92,374] 94,983
87,953|1 FAAEHA 86,534| 89,966
58,1131 ERBHEFE 53,552 58,868
57.348|113 Tk B 52,755 58.103|EMk EE A BT E
765|114 TETE 797 T65| Tk #eE  sE ) N B st
913|12 TN B E 1,059 1,092
913124 SERR A B 212 212 [l Ey s A B At
0 487 AR |l B AR F S SR N
Pt
0 360 393 iﬁ%%ﬁﬁé%:%iﬂ%)\%ﬁﬁ%ﬁ
X
1,198(13 FERF T /ESRE 1,309 1,275
1,198[131 hnyEE: 13 13§§%ﬁMﬂ%§ﬁﬂkﬁmi
[ X
0 1,296 1,262 [ a2 50 A& H
Rt
15,317[15 ey 16,681 15,919
7,636|151 EiER S 8,708 8,070 %ﬁ%ii%%ﬁﬁ%:%iﬁﬁk%ﬁﬁ
BEETAHK
7,681(152 kS 7973 7,849 ggﬁiﬁéﬂzﬁﬁ:éﬁakﬁﬁﬁ
BEETAHK
6,173|16 BB N <5 6,833 6,200
6.125/161 ok 2R IR R e Rk <2 6,785 6,152 %ﬁgigﬁ%@%@ﬁﬁﬁ)\%
EETA
481162 T BB B B 4 48 48%§%ﬁﬁﬁéﬁﬁkﬁ%%
5 X
6,237|18 TBFE 7,100 6,612
5,859(181 SEE T IREE 350 33| AR R S A
F&EET=R
0 6,318 5.842 ﬁﬂ%éﬁﬁﬁ%:%ﬁﬁ N&H s
X
379[18Y H At A 432 432 (BB R AN B st 3=
2,927[2 JilSh = d=E] 4,387 3,616
61521 KEE 1,261 939
0212 TrEGFTEE 0 40
389 745 684 [fr e
0 0 7
0 357 0|2 REFEE
206214 TAESGFTKE 25 25 |wliR K e
0 36 48|94 SR ERA S H - KB
0 98 135|/K&
3822 R 40 44
9221 prif=y 10 10[#=E
29[222 EahE 30 34|EEEE
923 i3t = 19 19




FLbE T TR RN

USSR e
Z< AR
HHEE R B 1 248 o
By irE%TT
HIEE EHKTER KEE | HEE L 2R
FEE Fi i B &L 3 THES | THESR nE
9[231 EilaiiE= 19 19[RA Hi= ke
724 RIS T EE 7 7
7241 Ell s e85 T8 7 T|EEE S TR E
1,186[25 BHERERREE 1,625 1,234
2451252 — R EED 358 168 igﬂ%%%ﬁgﬂgﬁgwﬁz
1)
0 150 N
0 158 T4 |EEEhR IS B R 3R B RS
B EEEES
589|254 Hith s isaes 90 78 iﬂf&@ﬁ@&i&j ERER S
5=8)
0 7 OS5 REL (S 4 2 (U 151
)
0 475 380 [ ER TR
146|255 T R R G 60 60|EBRsfr B EE (G
0 75 IRILAYSE I Sk %
0 70 Ole& i@ 44
206|257 FETERL i (EeE s 79 T8 KB B e e e
0 53 S3|(HiEsR
0 50 SO|AZE ~ HP R G
326 RieE 4 4
36Y HihfrinE 4 4| TR R
85527 — R 965 927
855[279 M B 167 167 | P AR 2 (SRR
0 798 T60[MEL A TR E B R 22 A
142[28 HEREE 394 370
0[285 SEORGHEEL ~ fet - HEE 6 6 | BRI P 4 DT 2 e
TN B it
0 20 20|79 (S ) il s e
481287 Zathein () SEnlEs 20 202 %}it#i&/ﬁﬂﬁyﬁ i
=
0 24 0|eFI &S Ahmbag: A
4[289 ST e 192 192 |* s 4 5 B 20 2 0t A R £
HE R IELCE
0 42 4D (BAEE 4y 2 5 o TR B % TR
260,0007T*70%=42 ,0007T (UZ
SCHF)
90[28Y Hh R E 90 00|24 B TR 5 48 2
72029 NERERE 7 7
721291 NG E 7 T2\ R B 2 Fa s e 2
(6,0007%12 )
4783 MR A 463 451
6[31 SRR 6 6




FLbE T TR RN

USSR e
Z< AR
e QR 1 12457 o
By irE%TT
HIEFE EBIHER RERE | BEE > L A 2R
FEE F & A R B THES | THEE nE T
6|315 S EN 6 6| AT E] /)N B 2Rk 2L/ NGH
DRI E IR
472[32 FAGoF#E 457 445
307|321 N (B5%) Fifh 0 0
0 6 O | RIS > Wi N B
0 284 264 |—fEER A\ FEHE
106[322 WL 10 10[ETRI =82 A
0 97 05 |HE % TR Z 452 - 12T
ELARIEZE R > 365PF O H*30
07t=97,200 » Fl& T 0544 - 20
07T
53[328 B H S (FEER R 50 60 |RE B
)
6[32Y HA SRR 10 10| B o) E2 f T AR R AR R
30[7 g% - 1880 - #Eh - o 24 24
# - I8 - BOBEATREE)
&
30(74 FHES - 438D - RIRY - g 24 24
AR
30744 IR - HEGE KRB 24 24|BIR A B =R R4 (4 5387
2,0007T)
1,588(9 Hitr 966 926
1,588[91 Htr sz H 966 926
1.58891Y Hofilr 14 14 BBtk RiEE 14, 4007T(2
HE#6007T*12H) » FL&a Tt
4 -4007T:
0 40 O R (aHlE -~ B4
RHS ~ R . H0E - EZEE
s HEEEREE RATECS )
0 7 TIE R SAE B ZERS (S 51)
0 469 460 |+ ERF| 2 B o R A A
0 56 55 M A S 48 56, 0007T (N
EHEENEEKEIETT)
0 138 140 |4h 52 B B2 A s @ (WS 51
0 34 33 (A P e AR B AR 2
TUERE (B EH/NER S EE S
BRSO E MRIEE)
0 208 D08 (B E2 2 2 B B & TEHEETS -
PSSR ~ 7 Bhf i b R
B TR A
376|5M BN TS 0 0
3765 WREEEEE - P& 0 0
E -~ JEE BN REARE
BB SR TS
376|51 EREETEEE 0 0




FLbE T TR RN

AL
FH & FHzRBAdZ=
HrEE R 12458 o
BAL ERTIT
HIEE EHKTER KEE | HEE N
S M RIF FE | FEEH STENERY
236[514 et R o, i e f 0 0
140[515 W o R 0 0
93,351 4A =t 92,374 04,983




